Fg, the real deal*
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Fg exists between any two masses and is gi by: Cm 1
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Fg on Earth' surface on a 60 kg mass: FS - @ ( S )
This force holds object in (approximately) circular orbits.
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1SS = 9% 9 kg

g is called: the GRAVITATIONAL FIELD STRENGTH a gravitational field is the bending of space-time by a
mass.
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The moon orbits the Earth, we can use this
To find the mass of the Earth co Ecr\'L
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Prove there is ONLY one radial distance from the Earth which allows for

geosynchronous orbit. a
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Prove there is ONLY one radial distance from the Earth which allows for
geos_y_nchronous orbit.
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In orbit there is no surface that objects rest upon, this means that Fn = ON
#

GEOSYNCHRONOUS (geostationary)
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When in orbit an object is constantly
Accelerating toward the middle of circle, it is "freely falling" atac=g
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When free falling objects have apparent weight{Fn) =0 Com C+

What is the apparent weight of an astronaut in orbit in the ISS?
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Find the gravitational field strength at

a HEIGHT of 3.0 x 10® m above Earth's
surface.
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Determine the orbital velocity at that

HEIGHT!!!
o= Fy .
Mh TSz (5Ax00 DS
- . T I~
i DR
Fe = k)( d= M}
nvlrse S?/Uqre L“\ov <
Z &@ EuAl's Seface G¥
-6
r?.
L Fm() 7&@ g ec\r“‘ /‘0().‘;
/[ OGS Q-rm_\ CeA+CF
"I rald be dhe st o
PApa L never Lomt ot )
£ o Wack hale @r) |
L €o\ rwdi
P nrtse 3:6n

— @7‘)7.

\\btyahJ Yaw’ .,
|

Circular Motion Page 3



’ ,',-\ P 3.’!\;4':”"'

fb,mq: Sun.
Fast = [0}

An exo has gravitational field strength
Of 36 g akits surface, what is g at a HEIGHT of
5 radii
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